

$$2^{\circ} \int_1^{16} \frac{dx}{\sqrt{x} + \sqrt[4]{x}} = 4 \cdot \left[\frac{\sqrt{x}}{2} - \sqrt[4]{x} + \ln(\sqrt[4]{x} + 1) \right]_1^{16} = \textcircled{I^*}$$

$$t = \sqrt[4]{x} = x^{1/4} \quad dt = \frac{1}{4} x^{-3/4} dx \quad ; \quad dx = 4 dt \cdot x^{3/4} = 4 \cdot \sqrt[4]{x^3} \cdot dt = 4t^3 dt$$

$$t^4 = (x^{1/4})^4 \quad ; \quad t^4 = x \quad \quad \underline{\sqrt{x} = t^2}$$

$$I = \int \frac{dx}{\sqrt{x} + \sqrt[4]{x}} = \int \frac{4t^3 dt}{t^2 + t} = 4 \int \frac{t^2}{t+1} dt = 4 \int \left(t - 1 + \frac{1}{t+1} \right) dt = 4 \left(\frac{t^2}{2} - t + \ln(t+1) \right) = \dots$$

$$\frac{t^2}{t+1} = t - 1 + \frac{1}{t+1}$$

$$\frac{-t}{t+1} = \frac{1}{t+1}$$

$$\dots = I = 4 \left(\frac{\sqrt{x}}{2} - \sqrt[4]{x} + \ln(\sqrt[4]{x} + 1) \right) + C$$

$$\textcircled{I^*} = 4 \cdot \left[\frac{\sqrt{16}}{2} - \sqrt[4]{16} + \ln(\sqrt[4]{16} + 1) \right] - 4 \cdot \left[\frac{\sqrt{1}}{2} - \sqrt[4]{1} + \ln(\sqrt[4]{1} + 1) \right] =$$

$$= 4 \cdot \left(\frac{4}{2} - 2 + \ln(2+1) \right) - 4 \cdot \left(\frac{1}{2} - 1 + \ln(1+1) \right) = 4(\cancel{2} - \cancel{2} + \ln 3) - 4\left(\frac{1}{2} - 1 + \ln 2\right) =$$

$$= 4 \cdot \ln 3 - 4\left(-\frac{1}{2} + \ln 2\right) = 4 \cdot \ln 3 + 2 - 4 \ln 2 = \underline{\underline{2 + 4(\ln 3 - \ln 2)}}$$